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Aunanor
HeHb KaK AeHb A typical day
Hacra: |1 | Muma, 9ro THI nénan Buepa? Misha, what did you do yesterday?
Myma: |2 |Yro s aénan? Huderd oco6endoro. S uurai, What did I do? Nothing special. Iread, wrote
3 | MUCAJ MHChMa, TYJSII B MAPKe, 3aHUMATICS, (some) letters, strolled in the park, studied,
4 | AU OprOKH, KyPUJ, CTOSI Ha TOJIOBE, CHIEN U ironed (my) pants, smoked, stood on (my) head,
5 | cMOTpén TeneBru3op, TOTOBUI 00¢/1. /leHb Kak sat and watched TV, made dinner. A typical
6 |/MeHb. day.
Hacra: |7 | A gro nénana TBoA cTapmiad cectpa Hams? And what did you older sister Nadya do?
Muma: |8 |Haggcuaéma Ha nuBaHe M MKJIA TI0X0e, AemiéBoe | Nadya sat on the sofa and drank bad cheap
9 | HeMéNKoOe TTHBO, MéJIa KuTalickue mécun. OHa German beer, sang Chinese songs. She listened
10 | 9yTh-UyTh CIIyIIaNa PATHO, a IIOTOM OHA JélIala to the radio for a while and then she did (her)

11

JIOMAIlHee 3aIaHKe.

homewortk.

Hacrs: 12
13

A TBOM Myammue 6paTehsa Butsa u FOpa? Uro onn
nénanu? I'me ount ObLTH?

And your younger brothers Vitya and Yura?
What did they do? Where were they?

Muma: |14
15
16
17

Onti 65umn B Hpro-Mopke. Tam oHH Iy B
HmapKe, MIAIH XopoIIee Joporoe GhpaHIry3cKoe BHHO,
CMOTPETH HTAILSIHCKHHA (PUIBM, TOBOPUIH IT0-
HEMEIKH, KYPHIH U IIETH PYCCKHE IECHH.

They were in NY. There they strolled in the
park, drank good, expensive French wine,
watched (saw) an Italian film, spoke German,
smoked, and sang Russian songs.

Hacrs: 18

Huuero ce6é!

Wow!

CioBapsb
X
2 |muca+ write (Present Tense isn’t what you expect. Use in Past only for now)
3| rymsit+ take a walk; stroll (This is a regular ait+ verb, but instead of a, there’s 11.)
3 | mapk park

JIEHb KaK JCHb

a typical day (See grammar explanation about this construction.)

x
{mpit+ / mu+}

drink (See grammar explanation about bizarre notation.)

8 | meméBbIit cheap

9 | HeMETKUH German (This “strange” word is related to the word “mute” - because the Slavs
[not just Russians] who encountered the Germans thought they didn’t know how
to speak ‘correctly’)

9 | {moi+" / mé+} sing (See grammar explanation about bizarre notation.)

16 | HTAIBSHCKUN Italian (Note that there is a » — and not an u — following the x1.)

16 | puiIbM film; movie
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20-i ypok FpammaTuka

20.A [Noun] kak [Noun]: A Typical [Noun]
AeHb Kak aeHb (9)

The structure [Noun] kak [Noun] gives the meaning a typical X; nothing to write home about; no great shakes,
etc.

Knira kak xuura. A typical book.
II#iBo KaK MHBO. Average beer, nothing special.
CTynéHTBI KaK CTYICHTHI. Just ordinary students.

(Never said about Princeton students, koHéUHO. )

20.b The Past: An ‘ J1' of a Tense

Examples of the Past Tense we’ve seen in previous lessons:

S ckazan/a «Jaii»! 1 said M/F) “tea™!

Mer 65111 B Kamndopaum. We were in California.

OH JNeXaa Ha cToIE. It (M) was lying on the table.
OnHo6 OBLIO B XOJOIUILHHKE It (N) was in the refrigerator.

The Past Tense is pretty easy in Russian. There aren’t that many exceptions, as there are in English.! All the
endings begin in -JI-, so it’s our second consonant ending (the first one was the Infinitive ending -Tb).

SINGULAR PLURAL
MASC (s1, Tol, oH) | FEM (s, TBL, 0HA) NEUT (oH0) ALL (MBI, BLI, OHI)
-11 -11a -J10 -1’

The distinction in the Present between person (4, ThI, oH ...) is replaced in the Past Tense by gender and number.
So, if someone shows you the form eka3ana in isolation, you can’t tell if it refers to 1, TbI, or oHd. The only
thing you know is that the subject is one female.

Think about practically any common English verb, and we’ll bet you 20 to 1 that it has an irregular Past Tense: see/saw,
know/knew, do/did, drink/drank, buy/bought, go/went, ad infinitum.
Note that a softens unexpectedly in the plural: -m, just like ‘0’ in on#t: Oni misu (hey it thymes — what a great

mnemonic).
e —
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Grammar

Lesson 20
]

Since the Past Tense endings begin with a consonant, we get the same results as we did when forming Infinitives:

V+C (harmony)

SINGULAR PLURAL
STEM MASC (51, ToI, oH) | FEM (1, TbI, 0HA) NEUT (on6) ALL (MBI, BLI, OHI)
TOBOPU+ TOBOPUIT TOBOpHIIA TOBOPHIIO TOBOPWIIH
CMOTpE+ CMOTPEI CMOTpEIIa CMOTPEIO CMOTPENIH
nexa+ JISHKAT nexana JIEKAIIO TIeKATN
mUCcA+ MHCAI nucana MHUCAJIO MUCATTH
¢+C (truncation of final stem consonant)
SINGULAR PLURAL
MASC (s1, ToI, oH) | FEM (s, TBL, 0HA) NEUT (oH0) ALL (MBI, BLI, OHI)
paboTaji+ paboTan paboTaina paboTaio paboTtanu
3aHHMAM+... e 3aHHMAJICH 3aHHMATach 3aHHMAJIOCh 3aHUMAJIHCh
>1<mz£+x SKHIT sKuma* SKAITO SKHAIH

. . . X
*Note the shift in stress in the verb xus+

@ Give the Past Tense oH / oHa / oHu forms of the following verbs:

1. uwmraii+ 2. roBoOpU+ 3. Jexa+
4. Bumer 5. paboraii+ 6. muca+
20.B The Verbal Suffix - csa

3aHMMan+...cs (3)

in the Feminine form. See below for more details on verbs and stress.

We’ve seen a few verbs so far that have the verbal suffix -ca: 3anumMaii+...cq study y'{ﬁ+...cﬂ be a student.
Whenever the letter immediately preceding the ¢ is a VOWEL, es1 [ cb.

Ccs Vo

€.g., 3aHHMATBCAH, 3AHHMAIOTCS, 3aHHMAJICS e.g., 3aHHMAIOCh, 3aHUMAETECh, 3aHIMAIACH

YUYCh, YIUTECH, YIHIUCH

YUATHCA, YUUIILCA, YIaTC, YIHICS

So, you get -¢b in the g and BbI forms of the Present Tense, and in all forms of the past except the Masculine.

We will discuss the actual meaning(s) of this suffix in a later chapter.
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20-i ypok FpammaTuka
@ Chameleon
Start with: On yuurca B lipiincTone.
1. = 2. THI 3. oHH 4, MbI 5. Mamnma
6. BHI 7. Past Tense 8. Ko OHH 10. 3aHuMAan+...cqa
11. o1 (F) 12. BB 13. I'neb 14. Present Tense 15. =
16. MBI 17. T8I 18. TBOM néTH 19. BEI 20. IMama
20.I Stress Patterns in Verbs

Just as with nouns, verbs can have either fixed stress (indicated by ) or shifting stress (indicated by *).

20.1.1

Fixed stress

Stress is the same throughout the Present, Past, and Infinitive. It can be on any syllable:

Fixed stress: ~

1*" CONJUGATION 2™ CONJUGATION
YUTAR+ néH+ put roBOpu+ BU/Ie+
PRESENT TENSE
1sg YUTa 1O IEH Y roBOp 10 BIDK Y
2sg qUTa EIIb JI€H ellb TOBOP HIIIb BUJL UIIIb
3pl 9UTa  FOT IEH yT TOBOP 4T BU AT
PAST TENSE
Masc gUaTa |1 ae 1 TOBOP M BUJL 1
Fem yuTa J1a JIé J1a TrOBOp HIIa BHJI eJIa
Pl YHTa JIH JE TH rOBOp WIH BUJI €111
INFINITIVE
YUTA Th Je Th TOBOp UTh BUJI €Th

20.I'.2

Shifting stress

With very few exceptions, shifting stress is limited to either the Present or the Past, i.e., with very few exceptions,
a verb will not have shifting stress in both tenses.
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So how can we tell when the ™ refers to the Present Tense and when it refers to the Past? Below is a simple and
(usually) foolproof rule:

Any 1* conjugation verb with an * means shifting stress in the PAST
(Stress shifts from the stem to the ending in the Feminine form only)

: Any 2" conjugation verb with an * means shifting stress in the PRESENT :
i (Stress shifts from the ending in the 1sg to the stem in all the other forms) i

Stress for the Infinitive is wherever the stress mark is written

All you need to memorize is WHICH verbs have shifting stress. This should be included on your index cards for
each verb.

Shifting stress: *

1" CONJUGATION 2™ CONJUGATION
KHB+ IIBIB+" sail CMOTpE+ 001
PRESENT TENSE
NO SHIFT SHIFT to stem in 2sg to 3pl
1sg JKUB|Y ILTBIB | Y CMOTp 10 100 | JT10
2sg ’KUB €MIb IUIBIB €MIb CMOTD HIlb J100 uib
3pl JKUB | YT IUIBIB YT CMOTp AT JIF00 ST
PAST TENSE
SHIFT to ending in Fem NO SHIFT
Masc HKA 1 TJIBI J1 CMOTp €11 00 | AT
Fem JKH 14 ILIEI JIA CMOTp €11a 1100 | Hi1a
Neut AKHA 10 ILJIBI J10 CMOTP €J10 00 A0
Pl WU JTH TIJIBI JTH CMOTp EJH 00 | WIn
INFINITIVE
KU Th ILIBI Th CMOTp €Th 7100 ATh

gb Past Tense. Listen and repeat:

Example:  cuné+ (Bops) [] Bépsi cuoén

unTaii+ (Bépa) [] Bépa uumdna
1. kypir (Kars) 2. Buge+ (I'puima) 3. sHAii+ (VHHa)
4, paGotaii+ (IléTa) 5. umraii+ (HaTama) 6. yuiF cIoB4 (BBI)
caymait+ pamno (Upa) 8. cMotpe+ Temesrsop (1) (M) 9. mrobm+ 4uTATH (MéIma)
10. xuB+ " B IlpriCcTOHEe (Mama) 11. JKUB: B IleTepOypre (oH) 12. sxuB+ " B Mocksé (oHm)
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20-i ypok FpammaTuka

@ Change the sentences into Past:

Example: Uro 151 (Bépa) némaenis cerogus? ] Ymo mwi 0énana guepa?

1. CerOmHs OH UMTACT HEMEIKUHN SKYPHAT. 2. MsI cTorM Ha OaNKOHE U KYpPHUM.
3. Pwura (F) ceromus Bech IeHb CMOTPUT TEIEBU3O0P. 4. Mot OpaThs TOOAT cOATH (sleep).
5. A (J/liima) TOBOPIO MO-KUTAKCKH. 6. llouemy BBI IEKNATE HA CTONE?

7. Mot c€cTpsl CHAAT HA TUBAHE. 8. S (30s) caymaro paano.

9. Mg xuBém B Kanmudopuumn. 10. Yto BEI Aémacre ceroaaa?

You may not have known it (or cared), but we are using what is known as the ‘One-Stem Verb System’. The idea
is that, given a single form, the stem, you can predict every possible form of a verb. Basically it works very well
— otherwise we wouldn’t be using it.

Some verbs, however, don’t fit into this system as nicely. For these verbs you really need two stems, one stem to
which you attach vowel endings (the Present Tense and other stuff), and another stem to which you attach
consonant endings (the Infinitive, the Past, and other stuff). We’ll call these Double-Stem Verbs. (Very
original.)

The good news is that the stem to which vowel endings are attached (almost) always ends in a consonant, so you

(almost) always have harmonious C+V, and the stem to which consonant endings are attached (almost) always
ends in a vowel, giving harmonious V+C.

nbn+ €<—— ‘C Stem’ (ends in consonant)
used with endings beginning with a vowel (e.g., Present), yielding C+V

nu+ <«— VvV Stem’ (ends in vowel)
used with endings beginning with a consonant (e.g., Past, Infinitive), yielding V+C

Our notation: Double-Stem Verbs will appear in curly brackets { / }, with the consonant stem (used to form the
Present Tense) on the left and the vowel stem (used to form the Past Tense and Infinitive) on the right.

Some Double-Stem Verbs: {mpit+ / nﬁ+} drink {moit+" / mé+} sing {30B+" / 3B§+} call

See all the forms on the next page.
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Double-stem verbs

Person/ | Ending | Pronoun {nbii+ / l'[]:l(+} {moii+" / mé+} | {30B+"/ 3B§+}
Number drink sing call
C STEM (used with V endings): nbii+ noii+’ 30B+"
PRESENT TENSE
1sg -{U} 1 IO 010 30BY
2sg -{O}mb ThI TbEIIh HOEMIh 30BEILIb
3sg -"{O}T OH/OHA/OHO bET MOET 30BET
1pl -"{O}m MBI IbEM OEM 30BEM
2pl -*{O}Te BBI mheTe noére 30BETE
3pl -{U}r OHH TBIOT HOIOT 30BYT
V STEM (used with C endings): -+ nmé+ 3Ba+
PAST TENSE
Masc ) | 51, TBI, OH I nen 3BAJ
Fem -j1a s, ThI, OHA 1A néina 3BaJIA
Neut -J10 OHO TAJIO neno 3BAJIO
Pl -JIM MBI, BBL, OHA AN ménu 3BAIN
INFINITIVE
-Th [HTh neTh 3BaTh
? | Question:  What can you conclude about the Present Tense conjugation (1* or 2"*?) of all |
i double-stem verbs, given the fact that the stem to which vowel endings are i
| attached ends in a consonant? |
: Answer: (This answer to be filled in by you and answered in class) :
i i
i i
i i
i i
i i
i i
i i
i i
e —————————— J

gb Put the double-stem verbs in the correct form. Begin with the Present Tense:

1.

2.

3.

(v x 14 r 14 14 14 r 14
{mpii+ / u+} BUHO (MBI, oHWA, KOs, BEI, ThI, Bépa, Past, oH, MBI, OH4, ThI-Muia, BeI, bops)

{moii+" / mé+} nécuu (a1, MeL, oan, Ko, Be1L, ThI, bopiic, Past, oH, MbI, OHA, ThI-M1Ia, BbI, Bops)

{3akpoii+ / 3aKkpwI+} (close) nBeps (4, Mbl, oan, Koiid, BB, THI, 1€TH, Past, oH, MBI, OHA, ThI-MuIa, BbI, bops)
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Lesson 20 - Homework Umna

&S Exercise1 Answer the following questions about verbs and stress:

1. Whatis the pattern for shifting stress in the Present Tense? Provide an example.

2.  What is the pattern for shifting stress in the Past Tense? Provide an example.

3. Which type of verbs (conjugation type) NEVER has shifting stress in the Past Tense?

&< Exercise2 Mark stress on the following verbs:

Stem: Urpaii+ epaKA ILIBIB+ yuik NOMHH+
Conjugation:

| Urparo HEPKY IIBIBY yay HOMHIO
OHM UTparoT JgepikKat IJBIBYT yuaT HOMHSAT
OH urpal ACpiKal IIJIBIJI YUHII IIOMHHUII
OH{‘ hrpalja AcpiKala IIJIbIJIa Yuinlia IIOMHHIJIA
MBI urpajin ACpiKalH IIJBIJIH YUHnIiin IIOMHHUIN
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20-1 ypok DomallHee 3agaHue

2< Exercise 3 Fillin either -cs1 or -cb:

1. SAyay B [IpriHCcTOHE 2. Ero cécrpsl yuar B ['aprapre.
3. Buepa Mama 3anumana B OMOIHOTEKE. 4. Hamo 3aHUMATH !
5. D'ne BoI yunre ? 6. Buepa on n6aro (for a long time)
JKATOBA {complained)
7. Buepa MbI xxaroBanu . 8. TI'me 161 00BIUHO (usually)
3aHUMACIIb

2 Exercise 4 Put the following sentences into the Past:

1. Mg xusém B [IpriHCTOHE.

2. T'nme ona? (think about the verb)

3. Yro oH nénaer?

4, S yuraro nmAceMa.

5. OHH IOIOT KHTAaHCKUE IECHU.

6. Bépa 3annmaetcs B OnOImnoTéKe.

7. Mot oTén IEET aMEPUKAHCKOE TIHRBO.

8. Tu (Ibpa) TOBOPHIITH TTO-PYCCKU?

9. BuI cronite Ha OaNKOHE U KYpHTE.
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Lesson 20 - Homework

&S Exercise 5 Fillin the table:

Stem: {mpit+ / o+ } {MOH+ / MBI+ } {Gep+ / Gpa+ }
PRESENT
o
BBI
OHU
PAST
OH
OHA
OHU
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